



Vendor Ranking

**Letting:** 06170928 September 28, 2017 11:00 AM  
**Call Order:** 001  
**Contract:** E6K64  
**District:** District 6  
**Counties:** DIST/ST-WIDE  
**Fed Aid No:** N/A  
**Contract Time:** 1095 AVAILABLE DAYS  
**Project(s):** 40561075201 (\*)  
**Contract Desc:** DISTRICTWIDE LANDSCAPING

Rank	Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	SUPERIOR LANDSCAPING & LAWN SERVICE, INC.	Responsive	Winning bid	\$3,464,390.00	100.00%
2	ARAZOZA BROTHERS CORPORATION	Responsive	Non-Winning Bid	\$3,692,385.00	106.58%

*NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.*



Tabulation of Bids

**Letting:** 06170928 September 28, 2017 **Call Order:** 001 **Contract:** E6K64  
**District:** District 6 **Counties:** DIST/ST-WIDE **Fed Aid No:** N/A  
**Contract Time:** 1095 AVAILABLE DAYS **Project(s):** 40561075201 (\*)

**Contract Descr:** DISTRICTWIDE LANDSCAPING

Electronic bids are requested for a Districtwide contract that consists of Landscaping.

Submit the following five (5) items with your bid or your bid may be deemed non-responsive:

1. Landscape Contractor Certification by the Florida Nursery Growers and Landscape Association (FNGLA Certified Landscape Contractor FCLC)
2. Arborist Certification by the International Society of Arboriculture (ISA)
3. Florida Irrigation Society Certification
4. Experience in Landscaping (Form 850-070-09)
5. Schedule of Values for Lump Sum Pay Items tabulation spreadsheet has been added to this proposal for bidding purpose. Please complete spreadsheet and print. Write company name and sign/date at top of document. Scan and submit copy through Bid Express.

If the winning vendor's bid is above the Budgetary Ceiling amount of \$1,000,000.00, the award will be made to the Budgetary Ceiling amount. If winning vendor's bid is below the Budgetary Ceiling amount, vendor will receive their bid amount.

\* Special Note: Beginning September 1, 2017, Contractors must download and use the new bid preparation application AASHTOWARE Project Bids™ available through Bid Express. Visit [www.bidx.com](http://www.bidx.com) for more information. Hard copy bids will not be considered.

Line No / Item ID Item Description ( ) indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) SUPERIOR LANDSCAPING & LAWN SERVICE, INC.		(2) ARAZOZA BROTHERS CORPORATION		Unit Price	Ext Amount
			Unit Price	Ext Amount	Unit Price	Ext Amount		
<b>SECTION: 0001 Roadway</b>								
0005 0102 60 WORK ZONE SIGN		400.000 ED	0.35000	140.00	1.30000	520.00		
0010 0102 74 1 CHANNELIZING DEVICE- TYPES I, II, DI, VP, DRUM, OR LCD		6,000.000 ED	0.25000	1,500.00	0.50000	3,000.00		
0015 0102 74 2 CHANNELIZING DEVICE, TYPE III, 6'		100.000 ED	0.35000	35.00	2.00000	200.00		
0020 0102 74 6 CHANNELIZING DEVICE- PEDESTRIAN LCD (LONGITUDINAL CHANNELIZING DEVICE)		100.000 ED	0.45000	45.00	2.00000	200.00		



Tabulation of Bids

Letting: 06170928 September 28, 2017 Call Order: 001 Contract: E6K64

Line No / Item ID Item Description ( ) indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) SUPERIOR LANDSCAPING & LAWN SERVICE, INC.		(2) ARAZOZA BROTHERS CORPORATION			
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
<b>SECTION: 0001 Roadway</b>								
0025 0102 76 ARROW BOARD / ADVANCE WARNING ARROW PANEL		100.000 ED	9.75000	975.00	25.00000	2,500.00		
0030 0102 99 PORTABLE CHANGEABLE MESSAGE SIGN, TEMPORARY		50.000 ED	18.00000	900.00	60.00000	3,000.00		
0035 0104 10 3 SEDIMENT BARRIER		1,000.000 LF	4.00000	4,000.00	2.00000	2,000.00		
0040 0104 11 FLOATING TURBIDITY BARRIER		100.000 LF	10.00000	1,000.00	6.50000	650.00		
0045 0104 18 INLET PROTECTION SYSTEM		25.000 EA	150.00000	3,750.00	200.00000	5,000.00		
0050 0107 1 LITTER REMOVAL		25.000 AC	25.00000	625.00	75.00000	1,875.00		
0055 0107 2 MOWING		25.000 AC	190.00000	4,750.00	100.00000	2,500.00		
0060 0110 2 1 CLEARING & GRUBBING (PUSH BUTTON CONTRACT)		1.000 AC	461,680.00000	461,680.00	539,875.00000	539,875.00		
0065 0110 2 2 SELECTIVE CLEARING AND GRUBBING, AREAS WITH TREES TO REMAIN		1.000 AC	15,000.00000	15,000.00	16,250.00000	16,250.00		



Tabulation of Bids

Letting: 06170928 September 28, 2017 Call Order: 001 Contract: E6K64

Line No / Item ID Item Description ( ) indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) SUPERIOR LANDSCAPING & LAWN SERVICE, INC.		(2) ARAZOZA BROTHERS CORPORATION			
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
<b>SECTION: 0001 Roadway</b>								
0070 0110 4 10 REMOVAL OF EXISTING CONCRETE		250.000 SY	50.00000	12,500.00	48.50000	12,125.00		
0075 0120 1 REGULAR EXCAVATION		500.000 CY	20.00000	10,000.00	30.00000	15,000.00		
0080 0162 1 11 PREPARED SOIL LAYER, FINISH SOIL LAYER, 6"		500.000 SY	6.00000	3,000.00	10.00000	5,000.00		
0085 0350 3 1 PLAIN CEMENT CONCRETE PAVEMENT, 6"		500.000 SY	79.00000	39,500.00	65.00000	32,500.00		
0090 0350 5 CLEANING & SEALING JOINTS- CONCRETE PAVEMENT:		250.000 LF	17.00000	4,250.00	30.00000	7,500.00		
0095 0522 1 CONCRETE SIDEWALK AND DRIVEWAYS, 4" THICK		150.000 SY	66.00000	9,900.00	65.00000	9,750.00		
0100 0522 2 CONCRETE SIDEWALK AND DRIVEWAYS, 6" THICK		30.000 SY	94.00000	2,820.00	75.00000	2,250.00		
0105 0538 1 GUARDRAIL RESET		100.000 LF	98.00000	9,800.00	30.00000	3,000.00		
0110 0550 10220 FENCING, TYPE B, 5.1-6.0', STANDARD		100.000 LF	25.00000	2,500.00	30.00000	3,000.00		



Tabulation of Bids

Letting: 06170928 September 28, 2017 Call Order: 001 Contract: E6K64

Line No / Item ID Item Description <i>( ) indicates item is bid as Lump Sum</i>	Alternate	Quantity Units	(1) SUPERIOR LANDSCAPING & LAWN SERVICE, INC.		(2) ARAZOZA BROTHERS CORPORATION			
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
<b>SECTION: 0001 Roadway</b>								
0115 0550 10228 FENCING, TYPE B, 5.1-6.0, RESET EXISTING		500.000 LF	38.00000	19,000.00	25.00000	12,500.00		
0120 0550 60211 FENCE GATE, TYPE B, SINGLE, 0- 6.0' OPENING		5.000 EA	24.00000	120.00	600.00000	3,000.00		
<b>0001 Roadway Section Totals:</b>				<b>\$607,790.00</b>		<b>\$683,195.00</b>		

<b>SECTION: 0002 Landscape / Peripheral</b>								
0125 0526 1 2 PAVERS, ARCHITECTURAL, SIDEWALK		50.000 SY	150.00000	7,500.00	125.00000	6,250.00		
0130 0570 1 1 PERFORMANCE TURF		3,500.000 SY	3.00000	10,500.00	1.72000	6,020.00		
0135 0570 1 2 PERFORMANCE TURF, SOD		7,500.000 SY	4.83000	36,225.00	4.42000	33,150.00		
0140 0580 1 1 LANDSCAPE COMPLETE- SMALL PLANTS 40561075201		(1.000) LS	79,490.00000	79,490.00	121,500.00000	121,500.00		
0145 0580 1 2 LANDSCAPE COMPLETE- LARGE PLANTS 40561075201		(1.000) LS	2,417,360.00000	2,417,360.00	2,519,500.00000	2,519,500.00		



Tabulation of Bids

Letting: 06170928 September 28, 2017 Call Order: 001 Contract: E6K64

Line No / Item ID Item Description <i>( ) indicates item is bid as Lump Sum</i>	Alternate	Quantity Units	(1) SUPERIOR LANDSCAPING & LAWN SERVICE, INC.		(2) ARAZOZA BROTHERS CORPORATION			
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
<b>SECTION: 0002 Landscape / Peripheral</b>								
0150 0580 1 3 LANDSCAPE- RELOCATE TREE (PUSH BUTTON ONLY) 40561075201		600.000 EA	445.83333	267,500.00	458.50000	275,100.00		
0155 0590 70 IRRIGATION SYSTEM 40561075201		(1.000) LS	38,025.00000	38,025.00	47,670.00000	47,670.00		
<b>0002 Landscape / Peripheral Section Totals:</b>				<b>\$2,856,600.00</b>		<b>\$3,009,190.00</b>		
<b>Contract Grand Totals:</b>				<b>\$3,464,390.00</b>		<b>\$3,692,385.00</b>		



Tabulation of Bids

---

**Letting:** 06170928    September 28, 2017    **Call Order:** 001    **Contract:** E6K64

*NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.*